THE ASPECTUAL DIFFERENCES
BETWEEN THE PRESENT AND AORIST SUBJUNCTIVES
IN MODERN GREEK

INTRODUCTION

Any Greek who has heard foreigners speaking his native tongue knows
that one of their greatest problems is to make the right choice between
the aorist and present stems of the Greek verb. Whenever they pronounce
a verbal form, there is quite a chance that they choose the wrong aspect.
One of the principal causes, of course, is that, whereas anyone to some
extent can master the Greek language, not everybody has the ability or
the opportunily to obtain possession of the linguistic feeling that is one
of the birth-rights of a Greek. Another cause, and one which could be
eliminated, is that in grammars and handbooks used at universities where
Modern Greek is taught not enough attention is paid to the aspectual
differences between the aorist and the present stems of the verb. Some
of them give very plausible rules and illustrate them with clear examples,
but the authors just do not have enough space to dwell on the subject.

This is why, after struggling with these aspectual problems for many
years, I have decided to write a handbook, not on the Greek language in
general, but only about verbal aspect in Modern Greek. Such a handbook
cannot be written, of course, if it is not preceded by some research-work,
and so this present article on the subjunctive is meant to be one of the
preliminary studies *.

1. Some research-work has been done already: Hawssaxor SeiLEr gave in his
hook L’Aspect et le temps dans le verbe néo-grec (Paris 1952) a first-rate account
of the present indicative, the perfect tense and the aspectual differences between
the imperfect and the aorist indicative. The author of this article wrote his dissert-
ation about the Greek imperative in general {The Greek Imperative. An investigation
into the aspectual differences between the present and aorist imperatives in Greek
prayer from Homer up to the present day, Amsterdam 1966) and a study on the
imperative in Modern Greek in particular (The Aspect of the Imperative in Modern
Greek, Neophilologus 49 [1965) 89-103 and 203-210).
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The readers of this periodical, especially the Greeks among them,
probably wonder why it publishes an article which treats a subject that,
from the Greek point of view, has not anything problematic about it.
The very fact, however, that Greeks, due to their linguistic feeling, do
not consider the aspectual differences between the present and aorist
stems as something difficult to grasp and understand, is the reason why
I have asked the editorial staff of ‘Eadxwixa to insert this article in
their periodical: in this way this article will be read by as many Greeks
as possible and, T hope, they will be so kind as to send me their comments
on the mistakes and shortcomings in this article 1.

The difference between the present and aorist stems in general

Before going deeper into the subject of this study, the subjunctive,
it is good perhaps to give a brief outline of the characteristics of the present
and aorist stems in general. It is unquestionably the merit of Hansjakob
Seiler that in describing the aspectual differences we do not any longer
have to use vague terms like “durative” and “punctual”. In his study
L’ Aspect et le temps dans le verbe néo-grec he opened new perspectives
by introducing the notion “coincidence”. About the imperfect he says 2
“L’imparfait est un passé, il établit toujours une référence a4 un autre
énoncé verbal, de sorte que les deux se situent I'un a ’égard de I’autre”.
Let me illustrate this by means of one of his own examples
Muk pépa mepvolios pia yuvaixe' Tov &xovse, umaiver péc o6 poyall, Aéet
To% paptn: Tl Eleyzg adtob pic ota dévri oou; —Aév elra, Aéer, timota,
“Un jour, une femme passait; elle ’entendit, entre dans le magasin et
dit au tailleur: Qu’est-ce que tu disais tout a ’heure entre tes dents?
--Moi, dit-il, je n’ai rien dit”.

From the view-point of the woman who says i #eyec adtol there
is a coincidence, a relation with another happening. She is not only
thinking about the fact that he said something, she has something else
in mind as well. That other happening is not expressed explicitly, but is
implied in adteb. “What did you say there?”. The word “there” points to
the occurrence mob mépaoca: “the moment I passed by”. With this happen-

1. This is the right place, I think, to express my gratitude to two people, Mrs.
Totobrx van Gemert - Kaipdxn from Amsterdam and Mr. Tudwng Kairiag from
Amphissa, who were so kind to answer all my questions.

2. SEILER, p. 113.

3. SEILER, p. 136.
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ing the imperfect £ieyz¢ has a relation. Symbolizing &evz¢ as a line, we
could say that the point mob wépaca is situated somewhere on this line.
For the tailor who says 32v elwa timora there is no other happening, no
coincidence: he does not think of another occurrence at the moment he
pronounces these words. By using the aorist he shows that he does not
think of anything else than of the fact that he did not say anything. He
just states a fact, or rather an “absolute” fact, and nothing more.

The next example takes us right into the territory of the subjunctive.
I chose it on purpose, because in my study on the imperative of some years
ago I have proven, I think, that not only with respect to the imperative,
but also in regard to the so-called prohibitive and adhortative subjune-
tives, coincidence plays a very important part. The question, then, is
what is the difference between the present-form p¥ Ovpdvye and the
aorist-form p% Bvudong. The first can be vsed only when the hearer is
angry or is about to get angry: only in that case is the speaker able to
view a relation, a coincidence between the action he forbids and the pres-
ent situation, i.e. a situation where someone is angry or is obviously about
to get angry. The aorist stem, which expresses an “absolute” fact (and
this is meant literally), does not take any relations into consideration.
Accordingly it will be used only when one is afraid or supposes that the
hearer will be angry or get angry in the near or distant future, without
relation, however, to the situation as it is at the moment the quoted words
are being pronounced.

Thus it is clear that, just like in the case of the imperfect, coincidence
plays an important part in this kind of subjunctives. It remains to be
seen, however, whether this holds true for the subjunctive in general.
But before going deeper into these questions, one remark has to be made.
By choosing in the former example a prohibitive subjunctive, i.e. a sub-
junctive that is independent, I shirked a certain difficulty: in most cases
the subjunctive is related to another form, is even dependent . It is clear
that this relationship gives rise to special difficulties in interpreting the
function and meaning of the subjunctive-form, as the other form has also
to be taken into account. These difficulties might not be insurmountable,
however, if it could be proven that with regard to the subjunctive, too,
coincidence plays a part. The coincidence might be realized, then, in the
relationship between the subjunctive and the other form.

1. See also SEILER, p. 46,
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The first thing, then, that has to be studied is the question whether
in case of the subjunctive in general we can speak of coincidence. This
cannot be done without a deeper understanding of the aspectual differ-
ences between the present and aorist subjunctives. The first step to under-
standing these differences is to study those verbs which to all appearance
are always followed either by the present subjunctive or by the aorist
subjunctive.

Verbs followed by the present subjunctive

Verbs like dpyilw, madw, otapatd, ouveyile;: and &axorovdd are al-
ways followed by the present subjunctive:

Sam. 89 1. . .thv dpa mwod dpyioe vi pé xaradidxn adtée..., “..the moment he
started chasing me...”.

Vass. 56: Zrapdtnoe va fodyn, “It stopped raining”.

Plask. 34: &axolovfoloe va wmovyxpiln dmethnmixd xal vo udc xaraotérar...,
“howling and roaring she continued threatening and cursing us...”,

Taking a closer look at our first example we see that the action of
“chasing” starts at a certain point. This is the point from where the speaker
views the action in its perspective,in its development. Symbolizing “chas-
ing” as a line, we may see &pytoe as a point situated right at the beginn-
ing of the line, as the starting-point of the action of “chasing”. We shall
call this “the point of coincidence”. In the case of verbs like tadw and gro-
patd this point is not situated at the beginning, but at the end of the line,
whereas verbs which have the meaning of “continue” have this point
of coincidence somewhere in the middle of the line. The reason why the
verbs mentioned above are always followed by a present is that who
wants to speak of starting, stopping or continuing an action cannot help
viewing it in its perspective 2

1. I have taken my examples from the following modern pieces of prose:

ANToNH ZAMAPAKH, Znreltar Ehmlc. Ifpo xvdivou (Bifatorwactiov 7ig ““Botiag”,
*Abfvae 1966) = Sam.

Bazian Baziarkoy, Ol gwroypagies (BuBh. 1is « Eotlagn, *Abfve 1966) = Vass.

Zuypoy ITaazkoBiTH, Ol yovatiopévor (DEing, 'Abfve 1964) = Plask.

1. M. TIanarioronoyAoy, *Avlpdmvy Stda ("Ixapog, *AB7ve 1959) = Pan.

Bovasaz AaMiaNAkoy, Tty dvepoldin (“Ixapog, *Abfva 1960) = Dam.

ErpaNaz T'. TIADA T'QANNOY, Amd 10 fucpordyro tob dpytréxtova A. M. ("Ixapog,
*AOfve 1967) = Pap.

2. See also SEILER, pp. 46-47.
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Verbs which express perception and such-like generally take the
present subjunctive : .

Vass. 38: "Axovoe thyv mbpra THe xdpapac tov V' droiyn..., “He heard the door of
his room being opened...”.

Sam. 89: ...tdv lda v& 1péyn wiow pov..., “...I saw him running after me...”.

Dam. 99: ..vtd0w T xépt tov va pt ¢dnydy, “...1 feel his hand leading me”.

Vass. 23: Kai povtalérav dvfpdmovg mod yvaele, va w0 mapegunvedovy, vi éEnvoty
dMME Tovg atiyoug Tou, v ydvoww Td vénud toug, “And he imagined how people he
knew misinterpreted it (his poem) explained his verses in the wrong way, failed to
understand their meaning”.

We observe the same thing as before: the action is viewed in its
perspective from the speaker’s view-point. In the example from Samara-
kis, for instance, the speaker sees someone running after him. The point
eldo is situated somewhere on the line of the action ve tpéyw. It does
not matter whether it is at the beginning, in the middle or at the end:
the action of “running” and the observation may start at the same mo-
ment, but it is also possible that the action of “running” starts earlier and
the observation is made at a later point of its development. The impor-
tant thing is that the two actions get into contact with each other, that
they “coincide” with each other, whether that is at a certain pointor
all along the line L.

The verb PBpioxw, too, takes the present subjunctive: it always
coincides with the action expressed by the subjunctive:

Vass. 25: Tov elye Bp¥ va #dferar atd Bdbog 70 pavafioh, “He had found him
sitting in the back of the shop”.

Dam. 53: Bpébnxe va Badiln o évav Epnuo Spbuo..., “She found herself walking
along a deserted road...” 2,

It is quite clear why the verbs mentioned above prefer the present
subjunctive: the relationship between them and the other action is so
narrow that coincidence cannot be avoided. Yet I have found a few
examples where the aorist subjunctive is used:

Plask. 140-141: "Av Bpiondray tape, €ote nt fvag dvbpwmog, va xov-
Pevridon ... pali tou. This does not mean: “If only there was somebody,
even though it were a human being, who was talking with him”, or
rather “I wish there was somebody talking with me”. In this case the
action of “talking” would be viewed in its perspective, so that Bpiondray

1. A good example of two actions which could be symbolized as two lines coin-
ciding with each other all the time and not only at one definite point is Dam. 99.
2. For other examples of the verbs 32érw, dxodw and Bpioxw see SEILER, pp. 47-48.
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could coincide with it. Only the present stem could express that. The
aorist denotes something altogether different: “I wish there was some-
body to talk with”. By using the aorist the author makes it clear that
he does not want to consider the action of “talking” as something that
is actually happening (and accordingly coinciding with Betoxérav), but
as an absolute fact, as an action “loose” from Reionétav. In a sent-
ence like this the aorist denotes an action that has to happen yet, if
it is going to happen.

Pan. 32: ...pd eldec... v& mdfw rimota; “...have you noticed per-
haps that T got sick or something like that?”. An old man is angry with
his wife, because, in spite of her great age, she helped building a road.
Our example is her reply to his rebukes. By means of these words (“Is
my health affected perhaps? I’'m still as sound as a fish!”) she wants to
indicate that, as far as she is concerned, the action ndoyw did not occur.
She could have said as well #raba timota; The use of the present
would have indicated, on the other hand, that she emphasized the first
words: pt eidec;

Dam. 113: *Axobetnue Spwg v& mapamovedi] xapid vorxoxved...;, “Has
anybody, for that matter, heard any complaints from a real housewife...?”.
Some women are making complaints against somebody, who defends
herself by suggesting that just by raising these complaints they prove
their inferiority as housewifes. By using the aorist she avoids a coinci-
dence between the two actions “hear” and “complain”. If there was a
coincidence, the women would think that she wanted to know whether
they had heard something or not. But that is not what she is aiming at.
The only thing that interests her is the question whether a real house-
wife (who deserves that name) raised a complaint or not (Ilapamwovébyn-
xe napld vorowvpd;). She wants the other women to think: “Well, no,
there was no complaint from that kind of woman”.

Before this paragraph is concluded, two remarks should be made. -
The first is that in the three examples discussed above we have seen how
a Greek makes use of the possibilities offered him by his language: he
does not choose the aorist, for instance, only because it expresses exactly
what he wants, but also because the present would denote something
he does not intend. In such cases the choice is made not for positive,
but for negative reasons. In the second place it should be stated that,
if after the examples discussed above the impression is created that the
present subjunctive denotes an action that actually takes place and the
aorist subjunctive exactly the opposite, this is wrong. It does not hold
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true for the present and aorist subjunctives in general (as we shall see
later), but only for those following after verbs of the type discussed here.
This is not an intrinsic quality of these verbs, but originates from usage:
the fact that these verbs are always accompanied by the present subjunc-
tive causes the Greeks to use the aorist subjunctive, when they want
to give their words a special flavour.

Verbs followed by the aorist subjunctice

Just like there are verbs usually followed by a present, there are
verbs which prefer the aorist stem.

Sam. 86: "Hrav frowos v& By7, “He was about to leave”. So he was ready to
start, but had not started yet. This is the reason why an aorist and not a present is
used: there is no coincidence, as, from an aspectual point of view, there is no connec-
tion hetween the situation described in “he was about” and the action of “leaving”.
In the present situation (the situation of “he was about”) the action denoted by the
subjunctive has not been realized yet. This action is part of the future, however near
it may be, and accordingly has to be expressed as an absolute fact.

Plask. 85: "Ovov prdoave, ... xdvreve v wuyrdon, “When they arrived, it was
nearly dark”. It is exactly the same as in the other example: darkness is not there
yet, it is only approaching, so there is no connection between the two actions.

Vass. 118: Zrapdmoe Spwc 6t prd Suwstadpwoy meotuévovrae v dAldén 16 géc, “He
stopped, however, at a cross-over, waiting until the light would change”.

Sam. 17: ... poBértov: wn mhv Evmridon, “...he was afraid he would wake her up”.

Vass. 24: "Eanile o ¥pyo va 1oy toafiién, “He hopes the movie will grip him”.

Verbs of the type employed in the last three examples cannot be
followed by a present, because there would be a “gap” between the action
of “waiting (hoping, fearing)” and the line by means of which the present,
may be symbolized. The existence of such a “gap” is not allowed, as at
one point or another the “line” must make contact, must coincide, with
the present situation. These verbs are not verbs like Biémw and éxobw
with which an action that is happening at the same moment may coincide.
Because of their meaning they can be connected only with future actions,
with “abstractions” we might say.

Sam. 117: ... %p0x va& odc tnriiow (xdr), “...I have come to ask some-
thing of you”. The reason why the aorist is used is the same again: there is
no connection between the actions of “coming” and “asking” and thus
coincidence is out of the question. The phrase v& odc Iythow xdr is
not an occurrence that is part of reality, but only the purpose the
speaker has in mind, an abstraction.

Dam. 52: ..7ov mapoxddese va 0 PBonbijon v Bp¥ Sovierd, “...she
asked him to help her in finding a job”. Verbs like mapoxaré, {nré and
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mpocebyopor are usually followed by an aorist subjunctive: one asks
for an action that is supposed to occur in the near or distant future, i.e.
an action that has no connection with the present situation.

As I have stated above, the type of verb we are discussing here is
usually followed by an aorist. Sometimes the present, too, makes its
appearance. In these cases, however, the present subjunctive does not
denote one single occurrence in one definite situation, but a repetition
of the same action or has a general value!. The following examples
make that perfectly clear:

Plask. 67: ...@oBopowv v& tov mAnoidlew adtég Tic dpeg, “...1 did not
dare to approach him at those moments”. It is clear that the use of the
present stem cannot be explained in the same way as we did before.
There is no coincidence between the actions goféuouwv and minoidle, at
least not in the same way as we have seen it with verbs like Baénew and
axodw. Here the present subjunctive does not denote a single occurrence
that coincides with another happening, but expresses a repetition of
the same action. It must be stated, however, that, if we perhaps might
think that this present is different, it only seems to be different. The
only difference is that the present stem does not denote a single occur-
rence, but a series of occurrences, or rather a quality that realizes itself
in a series of occurrences. Here, too, the action is viewed in its perspec-
tive, in its development, and that from the speaker’s view-point. And
there is also coincidence: the quality the boy in question has, “the fear
to approach him (i.e. his father)”, is not realized all the time, but only
“adrtic tig Gpeg”. These are the points of coincidence where the boy’s
fear comes into contact with reality.

Dam. 133: ...70v mopexdreca (sc. tov Ocd) va ool dim Oyeia, “...1
have prayed to God that He may give you health all the time”. The
words of the speaker make it perfectly clear that it was not her intention
that health should be given to the other person now. In that case she
would have used the aorist subjunctive v& 3doy. The use of that form,
however, would have implied that the other person was actually sick.
This is a typical example of the so-called “general” use of the present
stem. The subjunctive va 8itvq does not allude to a single occurrence
in one definite situation nor to a series of occurrences, but to an action
that takes place all the time. This subjunctive has the same function

1. That “repetition” is not an intrinsic value of the present stem, but only a
secondary function, will be shown later. See also SEILER, pp. 45 and 130.
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as always: the woman who prays views the action in its perspective; the
coincidence makes itself felt in the relation between the subjunctive
and any situations one can think of in the rest of the other person’s life,

starting from the situation eplcle V MAPEXAAGH.

As we shall see a little further on, the verb mpogpraive usually prc-
fers the aorist subjunctive, but one does find examples where the present
is employed:

Dam. 147: A resistance-fighter has found a little baby that is so
hungry that the man starts chewing pieces of bread to feed it: *Excivo
BdrBnxe ... va ydeTty TV Opopn Tou pd Ampxpyix Téow, wob 6 dvrdptyg -
Tapapdve dev wpdpTaive va gaody xal va tob Oivy, “The little one started
gulping down its food with such greediness that it was absolutely
impossible for the «fighter-nurse» to chew fast enough to feed it”. It is
obvious that the two subjunctives denote a repetition of actions. They
coincide with the whole situation that arises after the child has started
eating.

The aorist subjunctive (which just like any other form based upon
the aorist stem denotes an absolute fact) seems, according at least to
the examples we have discussed, to realize itself as an occurrence that
does not (yet) take place and, if it takes place, as an occurrence that takes
place in the near or distant future. In order to prevent that one gets the
impression that this is the only way the aorist subjunctive is used, we
shall now discuss as our last example of verbs followed by the aorist an
example of the verb mpogpraive.

Dam. 24: ..mpbptace va mdon tov Aéyo N Edmpakia, “...just in
time Efpraxia began to speak”. This aorist subjunctive obviously does
not denote a future action that has no connection with the present
situation, but states a mere fact. The verb mpopraivew, not denoting a
real action on its own, needs a supplement, be it explicite, be it implicite.
This supplementary verb usually is expressed in the form of an absolute
fact.

*

If everything that has been discussed has given the impression that
the choice between the present stem and the aorist stem (so far the sub-
junctive is concerned) is not so difficult after all, this is the right time
to take away that impression. It is true: the verbs which have been
discussed above take either the present or the aorist subjunctive. This,
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‘however, is not a stringent rule, as I have tried to show by means of
some examples where the “rule” was not, or rather could not be followed.
A more important point, however, is that the cases where the choice
between the present subjunctive and the aorist subjunctive is almost
fixed form a rather small minority. There are many more cases where
the choice (to the poor foreigner) seems to be completely free. The rest
of this study will be devoted to these cases. Let us start, then, with
those cases where, if the present stem is used, the subjunctive coincides
with the verb upon which it depends, something we have observed al-
ready in the examples of, for instance, BAérw and axobw.

[

The verb oxégropar is only sporadically followed by a present
subjunctive. I have found one example:

Vass. 20: ...c¢ oxépropar v mepmatds oxuptdg mAdL of pra Bdhasoa,
“...in my mind I see you walking by a sea-shore with your head down”.
It is clear that oxégropor when followed by a present, is employed as
a verb that indicates “perception”, as for instance, BAémo.

Accompanied by the aorist, it gets an altogether different meaning:

Sam. 35: ..t0 oxéptyre ucivo 10 Tpwl va mden E€va Awyelo, “...that
morning the idea occurred to him to buy a lottery-ticket”. This time
oxépropnat does not have an action in progress -as its object, but an oc-
currence that has vet to take place. The “idea” is still in the speaker’s
mind and, as a result, is not yet part of the situation described by the
verb oxéprnxe. Coincidence, therefore, is impossible.

Sam. 144: Tév &gnox va xiain, “I let him ery”. The action of
“crying” is viewed in its perspective: there is a coincidence between
this action and &grnox. The action of “crying” is taking place, but the
subject of &pnoa does not interfere, does not take action, lets the crying
person be.

Sam. 144: .. .&pnoe 6 poyaipr v& méom, “...he dropped the knife”.
As there is no coincidence here, the verb &oive gets an altogether dif-
ferent meaning. We could say: “He made the knife fall” or “He caused
the knife to fall”. The relationship we observed in the first example is
not, present here, as the action of “falling” does not (yet) form part of
the situation described by &gprnoe .

1. When the aorist subjunctive is preceded by an imperative, one might think



88 W. F. Takker

Vass. 43: ..ty éumédila, eaivetar, va odnyq, “... 1 bothered her,
it seems, while she was driving”. The presence of coincidence between
the two actions of “bothering” and “driving” makes clear that someone
is actually driving, while the speaker is giving her trouble.

Pap. 168: ...8undd1le 19 oxén wov va pvglon, “...it kept my thoughts
from returning”. In this sentence the subjunctive is expressed as an
absolute fact: there is no coincidence between the two actions. Accord-
ingly, va yopton, not forming part of the situation described by éumé-
e, is not an actual occurrence and will never be until the obstacle
has been taken away.

Pap. 94: ...Barbnxe va mailn pé v Todvro Tng, “...she began to play
with her purse”. The verb BarOnxe is the starting-point of the line by
means of which we may symbolize the present va mailn!. The only
difference between Pdaihopoat and dpyifw is that the first may be also
accompanied by an aorist subjunctive:

Pan. 40: ...Bardnxe vo ) grdon. One feels inclined to render this
sentence as “He began to catch up with her”. This time, however, there
is no coincidence, so that BaAfinxe cannot be the starting-point of a
line. In our translation, too, it must become obvious that there is no
relationship between the actions BdrByxe and va @tdoy. A better trans-
lation is: “He set himself to, he launched an attempt to catch up with
her”. The form BéxOnxe is not the starting-point of a line, but something
that is done with a view-to a definite purpose 2.

The verb maipvew, when accompanied by a present subjunctive, has

that &p7vew has a meaning that is closer to the one we have observed in the first exam-
ple than to the other one. Plask. 125: *Agfdte ue v& odc éényrjow, “Let me explain”.
It is quite impossible to say here: “Make me explain”. The fact, however, that the
action of “explaining” is not viewed in its perspective makes it clear that the speaker
is not yet explaining. So he does not ask the other person “to leave him be” or rather
“not to make him stop explaining”, but “Give me the chance, and I shall do it”.

1. See p. 81,

2. This is clearly illustrated by the fact that sometimes this purpose is effected
and sometimes not. Dam. 83: ...BdA\Onua v& peyadvow ta dppava, “...1 set myself to
bring up the orphans”. This purpose is effected, as a little later follows: Ta peyd-
Awoa T dpgava. Dam. 134: "Eonudby dpbcwg xal pd ) ueyolitepn Bukon £8dA0n va
étotpaotii via ¥ew..., “She got up right away and in the greatest hurry she prepar-
ed to get ready to go out...”. A little later, however, it appears that she did not get
ready: her purpose has not been eifected. '
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the same meaning as dpyifw. But one can also find it followed by an
aorist, just like Bdrdopat.

Vass. 41: .4 pmdda wou... wipe v& xatpaxvdd thv xotnebpa, ...y
ball started rolling down the slope”.

Pan. 112: Téxrog, =w¥pe va ypodyn otd gormqti..., “At last she
decided to, proceeded to write a letter to the student...”. The author
does not tell us that she actually started writing, as becomes perfectly
clear from what follows: Mt pdploug Tpdmoug Euabs 0 ohotacy Tou, ...athv
AbBfva, pé pdptoug Tpbmoug, wi Aym xal THv mdorn wat, fofe TO yeduua
o1 peydro xouth.., “Secretly and cunningly she got to know his address
in Athens; secretly and cunningly, so that nobody would see her, she
dropped the letter in the big box”. The author does not see the action
of “writing” in its perspective and, accordingly, does not make us see
the girl actually writing. He just informs us of the fact that she took the
decision to write a letter. By using the aorist, he indicates that he does
not see the act of “writing” as an actual occurrence, but as something
that, at least from the point of view of the situation described by e,
is still in her mind. :

If it is true that the verb maipvew, when it is followed by an aorist
subjunctive, has a meaning that comes close to “to decide”, then there
are some examples which give me great ditficulties:

Pan. 18: Ma <nv &pa wod Ermatpve va foadidor..., Fpbe dmd vh ydpo & pnyavieds,
“At the time, however, that it started getting dark (?) the mechanic came from town”.

Pan. 39: "Erawpve vi faoidéyn & #Hliog ota wépo Bouvd, “Far away, there where
the mountains were, the sun started setting (?)”.

Pan. 146: Moéhc Enatpve v yapdfn + pépa, Eumveisoe..., “Every morning, as soon
as it started dawning(?), he got up...”.

If watpver in such cases does not have the meaning of just “begin”,
but actually does have a “volitional” colour, something that comes close
to a decision, then we would have to assume that it is a pecularity of
Panagiotopoulos to personify, as it were, the sun. On the other hand
it should be said that he does not always do that, as I have found another
example where the present is employed:

Pan. 10: ...Erapve v voyrdvny, 7...it was getting dark...” L.

It may be concluded that, in all these examples where the sub-
junctive coincides with the verb upon which it depends, the present

1. The verb mudve is always followed by the present. subjunctive, even in
those cases where sunrise or sunset is concerned: Pan. 109: Zav ¥mace va vvyrcdon... Pan.
167: Zav Emace v dnouconuegudln... Dam. 62: .. .drav Emaoe va vuyrdws...
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subjunctive indicates an occurrence that actually takes place and that
the aorist subjunctive denotes an occurrence that does not (yet) form
part of the situation described by the main verb, just like in the exam-
ples discussed before.

I

In this paragraph those cases will be discussed where the verb upon
which the subjunctive depends does not play a great part or is missing
altogether. When the present stem is used, the subjunctive sometimes
does not even coincide with the main verb. The coincidence manifests
itself, then, in the fact that the present subjunctive which refers to an
occurrence that is actually taking place or should be or might be taking
place to the speaker’s mind is connected with the situation present at
the moment. We shall start with some examples where the subjunctive
is preceded only by va&, & and ph L.

Dam. 135: N& yafyilng, vo yafyilns wol xohd xdvers, drho Syt péon
oV éxxhycia..., “You may bark as much as you want, that is quite
alright, but don’t do it in the church...”. The speaker views the action
in perspective from his own point of view which is determined by the
situation, i.e. that the other person was “barking” already.

As the aorist subjunctive does not have the coincidence that we
observed in the preceding example, it often denotes an occurrence that
should take place in the future:

Vass. 91: ...va 700 zAg otig &..., “..tell him (that he should be
there) at six o’clock...”. The speaker cannot view the action of “telling”
in its perspective, as there is no relationship possible between the pres-
ent situation and this action: the person who will eventually receive the
message is not present, so the action ordered will take place later.

Vass. 110: N& o8g ovotijow..., “Let me introduce you to each other...”.
This time the aorist stem is not chosen, because the action will have to
take place later, as the required persons are both present. If there was
a coincidence between the present situation and the action referred to,
the speaker would say something like “Let me continue introducing you...”
or “Let me start introducing you from this very moment on...”. It is

1. See also Baxker, The Aspect of the Imperative in Modern Greek, Neophi-
lologus 49 (1965), pp. 93-94 and Id., The Greek Imperative, pp. 68-69.



Present and Aorist Subjunclives in Modern Greek 91

very simple really: in such circumstances Greeks do not usually view a
relation between the present situation and the action they want to
perform. The only thing they do, then, is give a simple, plain statement,
and that is all. In the examples discussed above we saw that the present
stem reserved for itself as its territory “an occurrence that is actually
taking place” and that the aorist stem was forced to the only territory
left (in combination, at least, with the verbs discussed then): “an oc-
currence which takes place in the future, if it takes place at all”. Here,
for the first time !, we meet the aorist stem denoting something else:
“a plain statement, a mere fact”.

Vass. 73: "Ac xvlotr T adroxivta tig pddeg toug, &¢ atpryyiilovy o
poévar, B¢ mepmatody ol &Wbpwmor xaTw amw To peydha omitia..., “Let the
wheels of the cars roll on, let the brakes screech, let the people go on
walking along the foot of the tall houses...”. The coincidence manifests
itself in the continuation of an action that was already taking place.

Pan. 25: ...8g ™ powaototus thv Eyvour..., “..let us divide these
worries among ourselves...”. Of course, the speaker could have viewed
a relation between the situation present at that moment and the action
of “dividing”, saying: “Let us start dividing these worries right now”. He
would have confronted the other person with an accomplished fact by
expressing himself in this way. The only thing he wants to do, however,
is to make a proposal. And that is exactly what the aorist stem is often
used for, for making proposals! The aorist stem, not having any relation-
ship with the present situation, does not force the hearer into a certain
position, but gives him an honest chance to turn the proposal down 2

Pan. 18: M3 wé dudyrns, “Don’t chase me off!”. The supervisor of a
roadbuilding-company sends away an old woman, so that she may have
some rest. Misunderstanding his intentions, she thinks that he is firing
her and, accordingly beseeches him not to do that. She uses the present
stem, as, in her view, she is referring to an occurrence that is actually
taking place.

Plask. 67: Ilpbocte, va unv 16 yaidons!, “Be careful, don’t damage
it1”. A little boy, who is sick, is allowed to play with the cap of his father.
The quoted words are not pronounced, while he is playing with the thing.
In that case the present subjunctive would have been used (if we assume,

1. See, however, p. 86.
2. Cf. Bakkgr, The Greek Imperative, pp. 51-52 (especially note 53).
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at least, that the boy was not careful enough). No, the boy is told to
be careful at the moment he gets the cap in his hands. The aorist
stem expresses a warning for the future .

The subjunctives in the next examples are of the same type as the
ones we just saw, with one difference, however: they depend upon verbs.

Plask. 105: Elya v idéa mwog mweémer vo pd Ovpotvrar dxdpo pepixol
pihor otnv "ExPeria, “I had the idea that some friends of mine in Switzer-
land must still remember me”. There is no coincidence between the sub-
junctive va Gupolvron and mpémer, but there is between the first and the
clause eiyx thv i8éx. At the time when he had that idea the (at least
in his view) actual occurrence of “remembering” was taking place.

Plask. 136: O& mpémst xet - xdtw vo foloxerar 7 dmoPdbpa xal v &h-
Az, “The quay and the rest must be down there”. The speaker views
the action denoted by va& Ppisxeron in its perspective from the situation
present at the moment he utters his thoughts.

Pap. 10: Hpérer v& mdpw wavrpovél, “I shall have to start taking
“cadronox” (a medicine against insomnia)”. If the speaker had used the
present subjunctive, he would have indicated that he was a regular
consumer of this medicine. The aorist, however, refers to the future.

Vass. 106: «Mmopet va Aelmovy oty #Zox», oxéotyxe..., “«They may
be out of town on a holiday», he thought...”. There is a coincidence
between vo Azimouv (the action that may be taking place) and oxéprxe
(the view-point of the speaker, the present situation).

Vass. 156: “Opwg otd mpéito @i #w am’ 16 mdpxo 7 xoméia TOV
atapatros. — My Elne md xdrw, Tob clme. Mmopel va pd¢ dolv, “As
soon as they had reached the first light outside of the park, the girl
made him stop. —Stay here, she said, don’t come along with me. They
may see us”. Here, there is no coincidence. The girl’s fear of being seen
by someone is directed in the future, not on the situation present at
that moment 2.

1. Cf. Baxkker, Neophilologus 49 (1965), p. 99 infra.

2. This use of the aorist subjunctive is made even more clear by the following
example. Sam. 103: 'Evdeyouéves va 6dic xaléow yi1o oupminpwuatinh dEétaoy, wdpte
Baotretadn, “I may call you (in the future) for a complementary examination, Mr.
Vasiliadis”.
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Sam. 59:—T1 tpéyer; pdrmoe...—Ti Otc va Teéyn;, “—What is going
on, he asked...—What do you want to be going on?”.

Pap. 19: "Ornwe Eépete, ywatpé, eluar Shopdvayos xal dtv Ba flera va
uob x2otfete wimote, “I’'m all alone, doctor, you know it, and I wouldn’t
like you to keep anything from me”. In saying this, the speaker is not
referring to the future, but is viewing the action denoted by va& xpifete
in its perspective, as were it an occurrence that is actually taking
place ..

Pap. 58: Elya ptfet 6ro 16 Bdpoc ot oyéda tol Eevodoyeiaxol cuyrpory-
patog xt f0cha v& T& magaddow Eyxaipa..., “I was giving all my attention to
the designs of the hotel-block, as I wanted to hand them in in time...”.
The action denoted by the aorist subjunctive v& wapaddocw will take
place sometime in the future. There is no connection between this action
and the speaker’s view-point. In this example the view-point would be
determined by the form #0zha 2.

Plask. 45: ...0éxerg va dovidyns 616 yutheo; ...Elvar dovietad mob Ba
oob Tapdlyn, “...do you want to work in the foundry (of steel-works)?
That is work that will suit you”. The speaker, of course, could have
connected the present situation and the action of “working” with each
other, saying: “Do you want to work in the foundry right from this very
moment on?”. He does not want to say that much: he wants to refer
to the mere fact of “working”, without secondary thoughts 2.

Vass. 51: I'efyyopa Spewe xatapepa va i)y té oxépropar She adté, “But
quickly I managed to stop thinking all that”. From his point of view
(xatdgpzon) the speaker views the action of “thinking” in its perspective 4.

1. In the examples which have been discussed above it was always possible
to identify the speaker’s view-point with the present situation. Sometimes, however,
the speaker takes the liberty to view the action in its perspective from another point
{mostly in the future). Pap. 124: "HOehx v& (& Gotepa dmd tpidvra ypbwe, “I would
like to be still alive (to be living) thirty years from now”.

2. Here as well as in the preceding examples we see that the verb 60éw is dif-
ferent from mpémer and pmopet in this respect that, whereas thelatter two never play
a part in coincidence, 6éhw may coincide with the dependent subjunctive (this in
contradiction to what has been said in the introductory words on p. 90).

3. See Vass. 110 on pp. 90-91.

4. What has been said in note 2 about the verb 6ée holds true as well for
natapépvew. Considering the capability of these verbs to coincide with the dependent
subjunctive, they could have been discussed in paragraph I. This has not been done,
however, because of the fact that these verbs are quite different in character fromn
the ones discussed there.
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Vass. 61: ZB7ver 10 @dg xal Aet mog T xatapeps Emitéhovg vo vooTdEy,
“She switches off the light and says that at last she succeeded in getting
sleepy”. She succeeds neither in stopping the action (or status), nor in
starting it nor in making it continue, but she simply manages to make
an occurrence take place. Verbs like xatagépver always need a factual
complement, which, naturally, is expressed by means of the aorist sub-
junctive.

11T

The examples to be discussed here will give the same picture as the
ones we have seen in the preceding paragraph: the present subjunctive
coincides with the situation present at the moment the subjunctive is
pronounced. There is only one difference: in the following examples
the present situation is indicated, not by the verb upon which the sub-
junctive depends, but by some verb in the context 1.

In the first example we meet the present subjunctive used inde-
pendently. It occurs quite often in descriptions and may be compared
with the imperfect. An example of an aorist cannot be given, as the aorist
subjunctive is never used in this way.

Pan. 151-152: The cook of a “taverna” has left his kitchen, because
he wants to see some young people dancing and singing. In order to
have a better view he has climbed a tree. At a certain moment, however,
he hears his boss calling him and, terrified, he starts climbing down. But
too late! The boys and girls start dancing right in his vicinity... K &p-
FLOAY V& yupopEpvouy xal vi TpexAtlouv xal va pywvrtar Totua Tolpa oTh pe-
yorn grehd... Ki & Zrapdtne vo wi) umopi] Exst mhd v cakédyn xal va
ovppaldvetar, va ovupaldverar, wi Ay xal tov mapyn patt avbowmov,
“They started whirling and tottering around and came nearer and near-
er to the big elm-tree... And up there Stamatis could not make the
slightest movement and made himself smaller and smaller, afraid that
someone might see him”, There is coincidence between Stamatis’ condi-
tion and the general situation that starts from &oyioav.

Pap. 7: By¥xa o7 LLEYG’).\O dadpopor 1) wpotloTapévy, Tod ETuYE Vi TEQ-
vdy, wob yauovérace..., “1 went out into the main corridor. The matron-in-
chief, who happened to pass by (just at that moment), smiled at me...”.

1. We have seen this in Plask. 105 (p. 92).
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The words “just at that momeni” indicate the point of coincidence
between the present subjunctive va mepvi and By¥Hxo.

Pan, 17: "Ervye...xota 6 peonpéer v dpoceoéyn..., “By noon it hap-
pened to get cooler...”. The author just wants to inform us of a fact
that occurred. He might have said as well 8pocépeds, the aorist indic-
ative 1.

Pan. 151: Stamatis, the cook whom we met in one of the preceding
examples, is afraid to be discovered in his tree and climbs, therefore,
to that side where the foliage is more dense, and ... p7te m& mod pmwopol-
oe v fAémy timota, wbvo v xpifetan, vo xpdfetar 6 apapTwhds, Ao mLa Siv
nobobee, “...but now he could not see a thing any longer; the only thing
he, the trespassor, desired was to be hidden”. The subjunctive va Brény
clearly denotes a status during which the action (of the story) continues.
Between that action (a great accumulation of occurrences} and the sub-
junctive there is a relationship. This relationship, for that matter, be-
comes more obvious in the second part of the sentence, where the trans-
lation perfectly shows that ve xpdfetar does not denote a simple factual
occurrence, but a status: he desires to be hidden during everything that
is yet going to happen.

Dam. 35: T Bpfixe othv dpa mod 8¢ pumopolos v avtiotalij o timo-
te, “It found her at the moment that she could not resist anything”.
The words 8¢ pmopoBoe v’ dvriotad¥ express the condition the woman
is in at the moment she is found: the imperfect umopolsoe coincides with
Bp¥xe. But why v’ dvtierab¥) and not v’ dvriotéxeroan? The authoress
does not want to open still another perspective, does not want to say
“She was not able «to be resisting» (during actions to be visualized by
the reader or explicitly stated)”. The only thing she wants to tell us is
that the woman was not able to do something, viz. “to resist”. Such a

1. It is said sometimes that the aorist stem denotes only a single occurrence
and the present stem repetition. Such a statement might be easily refuted by the
following example, where the aorist subjunctive is used in a sentence which indicates
“repetition”. Plask. 111: Kauid gopd, 6oy €mave mor) 1o xpdo, f vouroxupd tiyaive v’ dvd-
pn 8% péon dmd vepitepr pepied xodTooupx oTH wixpl obuma, “Sometimes, when
it got to be very cold, it occurred that his land-lady made the fire in his room
a little earlier, by kindling some chunks of wood in the little stove”. The author has
avoided using the present subjunctive v’ dvafx, probably because the use of a present
would have called for another occurrence in order to coincide with it. Something
like this would have been the result: “Sometimes...it happened that his land-lady
was busy making a fire (v’ dvéfx), when he came in (érav #unaive).
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factual complement is always expressed by means of the aorist stem.

Vass. 123: ..na tov ®Odvra mod yewibinxe &ppwotog xal 3&v pmo-
poboe va xolvumiion, d&v umopolce v maitn gt te &he madid..., “...about
Fondas who was already sick when he was born, who could not swim,
who could not play with the other kids...”. The reason why the author
does not use present subjunctives is that, if he wrote 3&v pmopoiice
va xorvprd, this would mean that the boy did not know to swim 1.
Although it is quite conceivable that the boy actually did not know how
to swim, 1t is not the intention of the author to tell us that, but only that
the boy could not go out swimming, even if he would have wanted to.

In conclusion of this paragraph something should be said about
the adverh ywplc (3iywe), which may be followed by a subjunctive.

Vass. 131: ...nspratoioe éror pé o poyatpt othv TAdTY), Ywelc va vinby
T Ty, “...thus he was walking, with the (imaginary) knife in his
back, without feeling the wound...”. The condition expressed by xwplc
va widBy runs parallel with the status of “walking”. This condition is
viewed in its perspective just like the imperfect wepmatoioe.

Vass. 132: ThHv &Brene ywpic v& tov BAéan..., “He saw her without
being seen by her...”. In this example we see that the subjects of the
imperfect and the subjunctive need not be the same. If the word ywpic
is followed by a present subjunctive, it is preceded by an imperfect in
most cases. That this is not a stringent “rule” is clearly shown by the
following example (it must be said, though, that this is the only example
I could find):

Plask. 33: ‘Evxowpdotnxa va officeo w0 xavtih, dtywe ve umopd daxbpo
vo. Egywpiow..., “I got ready to blow out the candle, without being able
vet to distinguish...”. There is a coincidence between the present sub-
junctive and étowdotnxa. The two actions are not running parallel
like in the preceding examples, but the condition of “not being able to
distinguish” already exists before “he gets ready”. This is, in my view,
the reason why the author employed the present stem 2.

1. See Vass. 17 on p. 103.

2. Another example (and again the only one) of an aorist followed by ywpic
-+ present subjunctive provides another picture: Dam. 156: [Tpoydenae ut & modupd-
Xt Tou, Ywple va mdln whg GAo meproodtepo Eavorybray omy fenued xal otd xpvo,
“He (a little boy) pushed on with his little feet, without noticing that he ventured
further and further into the desolation and the cold”. In this example the condition
of “without noticing” cannot have begun before the occurrence denoted by mpoxdey-
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Sam. 119: "Equya ywpls va yromiow, “Ileft without having rung the
bell”. The speaker was standing in front of a door,doubting whether he
should ring the bell or not. He decided not to and left. The author wants
to inform us of two facts: “the man left” and “he did not ring the bell”,
He does not view a coincidence between the two or between one of them
and some other occurrence. In such a case a Greek chooses the aorist
stem, the stem that denotes an absolute fact.

Vass. 37: .79ty &va ypdppa mod th¢ Eypade, ywpls va tic 0 oreily,
“...it was a letter that he had written to her, without sending it, though...”.
Here again we see two occurrences, happening (if both of them had
actually taken place) the one after the other, expressed as absolute
facts.

Sam. 157: Iiictpnon yowelc va u mdoovy eldnoy, 8¢ ut =wheav ldvay,
Eypapuy dxbua..., “Stealthily I left without them noticing me; they did
not notice me: they were still writing...”. This example differs from the
two preceding ones by the fact that here the two occurrences take place
(or not) at the same time. Notwithstanding that, the author puts the
two next to each other as two absolute facts. Both of them constitute
points of coincidence for the following imperfect #ypapav (they were
writing). It is here that the author starts viewing a perspective 1.

ce. In order to understand this sentence better, a few words (which are implied any-
way) should be added: Ilpoxdermoe ...zt Evd wpoyweodoes 3ty Eviwbe mae... In this way
it becomes clear that the subjunetive va w0y does coincide with the aorist mpoydern-
oc and, of course, with the rest of the description that follows. It must be said, how-
ever, that this combination does not seem to be very much in use.

1. Although I have not been able to find examples to prove it, I do not think
that an aorist subjunctive should be preceded by an aorist all the time. A sentence
like the following is correct Greek, I imagine: *Evé #peuye yowplc va yatgerdion »td-
mee 1 MMowvo, “While he was leaving without saying good-bye, the tele-
phone rang”. Someone may remark that I should have written ywplc va youpetdn.
I did not intend, however, to make the actions of “leaving” and “saying good-bye”
run parallel, so that both of them might coincide with w%tdmnee. 1 just wanted to
inform people of the fact that this person was leaving without saying good-bye,
without creating any other relationships. In such circumstances verbs like yoipetd
often get an “iterative” colour, as may be made clear by the following example.
Dam. 70: Tafldedape, tofidedbape, ywplc moudeva va mdvovue hpdw..., “We
continued travelling without calling at any port...”. The imperfect tefWedape and
the subjunctive v& mdvovpe are running parallel and both of them coincide with
something like “at that time”. This parallelism produces an “iterative” effect in the
meaning of the subjunctive, as mdvew is a momentaneous verb. We can imagine the
speaker thinking: “...and there we did not call at... and there we didn’t... and not
there... and not there...”.
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v

In the former paragraphs our subject was especially that kind of
present subjunctive which expresses an action that is happening in the
situation present at the moment. We shall now devote some space to
those present subjunctives (and their aorist counterparts) which denote
an action that extends from the view-point of the speaker into the future.
We already met some examples in the present subjunctives following
after verbs like dpyilw, Pddropor and maipve. We shall start with sub-
junctives preceded by verbs like f¢fw and xdvw, to proceed with that
kind of subjunctive that denotes the purpose of some preceding action.

Pan. 75: Még #Boarav va doviedovue of gapmpna..., “They made us
work in a factory...”. The speaker views the action denoted by the sub-
junctive va dovieboupe in its perspective. In the sequel it becomes quite
clear why he does this. He wants to dwell upon the action of working,
so that he may elaborate it into a full description of the conditions pre-
vailing in the factory.

Pan. 72: ...tobg #Badav va oxdypouvy T4 Adxxe Toug xal TOVG XpEpo-
cav..., “...they made them dig their own grave and hanged them...”. The-
re is no coincidence between the actions denoted by #Buiav and the sub-
junctive va oxapouvv. This time the author does not dwell upon the action

of digging. He just wants to tell what happened and uses, therefore,
aorists.

Vass. 43: .. pupodid... u’ Exave ve 0élw va Eepdow..., “...the smell
(that hung there) was so sickening that it gave me the feeling that I
would have to vomit any moment...”. From the view-point of &xave
there is a perspective on va 0é\w v Eepdosw. These words do not denote
an action, but a status that continues during the following description 1.

Vass. 160: Someone is playing the piano so loudly that... &xave Ta
tlapea va Toilovr..., “...it shook the windows...”. The author does not
mean that it shakes them just once. He views the “shaking” in its per-
spective, as a status that lasts throughout the whole scene.

Pap. 100: "Eva ¢uAixd ytdmmua omyv mhdtn wéxave va yvpliow, “A friendly
poke in my back made me turn around”. The authoress just wants to
tell us that two occurrences take place: “someone is poked in his back”

1. In the words v& 8éaw va Eepdow the present subjunctive va 0éhw expresses
the status, whereas the aorist subjunctive va Eepdaw denotes what he “wants to do”.
It is only a factual complement.
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and “this causes him to turn around”. There is no coincidence, as she
views them as absolute facts.

Dam. 123: ...88¢3vnxe va wden thv Ntiva, medyue mod Exave 0 @To-
70 yovaixa va merdfn dmd Th yapa e wal va THe @ulon T yéeu,
“...the fact that she accepted to take Dina into her house made the poor
woman leap for joy and kiss her hands”. The same can be said here as
in the preceding example. This time, however, the authoress could have
viewed the two actions denoted by va metdfy and v @uvion in perspec-
tive, as the “leaping” as well as the “kisssing” must have lasted a while.
If she had used presents instead of aorists, she would have dwelled upon
the two actions and would, probably, have elaborated the scene by in-
forming us about what else happsned during that time. The authoress,
however, has chosen otherwise, probably because she wanted to continue
her story, after telling us about the woman’s reaction *.

In conclusion of this paragraph we shall deal with some examples
where the subjunctive denotes ithe purpose of the preceding action.

Pan. 14: Kol xdBisay 8hot v’ dpovyrpalvorvral, “And they all sat down
so that they could listen”. The perspective on the action of “listening”
opens from the moment “they sat down”. The present subjunctive does
not only denote the purpose of the first action. The author does not
just inform us about the reason why they sat down. He dwells upon it,
he views it as a status, during which other occurrences (expressed explic-
itly or implied by the author) take place.

Pan. 112: ...xdabioe 010 ydw 6" Eva oxapvi, va mepiuelvy o kewogeio...,
“...he sat down on a stool in the inn to wait for the bus...”. It remains
unknown how long he has to wait, but the author, at all events, does
not dwell upon this action. He just tells us why this person sits down.
That is all.

Pan. 76: “H Mapoudix 6dpbnxe cupbrepd Tou, va tov yaidedy otd mpdsw-
mo..., “Maroudia edged up to him, so that she could caress his face...”.

Plask. 86: Zfxwoe 10 yéoL Tou v 0 yaidéyyn..., “He lifted his hand to
caress her...”.

The difference between these two examples is that the aorist va ya«i-
8édm is only a piece of information by means of which the author tells
us why the man of the second example lifted up his hand, whereas the

1. It becomes clear here again that the question whether an action lasts a while
or not does not decide about the speaker’s choice between present and aorist.
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present v& yaxidehy, opens a perspective upon the whole scene that fol-
lows the action denoted by cbpbyxe. By means of this present the author
tells us that the woman of the first example continues caressing, while
she is talking to the other person.

Plask. 60: "Emixoe Sud oBbrovg Adomyn xai Bodrweoe T adtid Tov, Y& piy
dxody, “He took two clods of mud and stopped up his ears so not to
hear anything”.

- Pan. 24: "Ohlot ooppaldytmonay 6Aéyupd toug v’ dxedoovy..., “They all
gathered around them to listen...”.

That the author does not employ the clause v& phyv dxodn of the first
example just to indicate the purpose of the action denoted by Bodlwoe
becomes quite clear in the sequel: "Etot, y1a pépec Emerta, tprydpile... pé
7 adtid Poviwpéva..., “Thus, for days afterwards, he was walking around
with his ears stopped up...”. Here, all our attention is directed not to
Bobrwae, but to the status denoted by the present subjunctive. In the
second example we see exactly the opposite: here the verb suppaldym-
xav gets all the attention, whereas the subjunctive Vv dxolsovv has
been added only to indicate the reason why these people get together.

In reading the preceding examples, one might gather that the pres-
ent subjunctives which were discussed there, have not so much a final,
but rather a consecutive meaning. In the two next examples this is even
more obvious.

Pan. 116:... 7" dniBwae (10 popd) atd yrardxt ¢, v& fafiln drnermiopévo,
“...she put the baby on her bed, where it started crying despairingly”.
It is obvious that the subjunctive va BaBiln does not denote the purpose
of the action &mifwae, but rather the consequence. The fact that the
author views the action of “crying” in its perspective makes us under-
stand that the baby continues crying during the following scene.

Pan. 211: *Excivog #mege ydpov... v& gvdloyiérar, “He fell down and
plunged into thought”. The action denoted by va& oulroyiérar is seen
in its perspective from the speaker’s view-point indicated by the verb
éneae. An aorist v& ovidoytath would make a rather strange impression
here, as it would mean that this person fell down with the purpose to
think.

After these examples, where a mere v& indicates the purpose of the
preceding action, we shall discuss some subjunctives, both present and
aorist, which are introduced by the particle yix vé.
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Vass. 137: ...(6 modouotig) slye dhetpty) SAdxhnpoc yidk v yAtateds...,
“...the wrestler had oiled his whole body so that it was slippery...”. The
perspective indicated by the present subjunctive yux va yhistpdn auto-
matically directs our thoughts to “during the whole fight”. The author
does not just tell us why the wrestler had oiled himself, he gives us much
more: he opens us a wide perspective on everything that is going to
happen.

Vass. 159: ... 100 amavroboe Eyxovras yuplosr mave 61d xdbiopo i va
BAémy..., “... he answered him after turning round, so that he could
see him...”. We may add “during the rest of their conversation”.

Dam. 77: Tola Huepbvuyta ol yopravol ... &Qayvay yia va fpodv To mondid,
“Three days and nights the villagers were searching for the children”.

Dam. 35: ... #tpefe va Bp¥ Joudewa ... vk va 16 Opéyn (1o moudt)...,
“...she went everywhere to find work, so she could feed the child...”.

The aorist subjunctives used in the last two examples do not open
any perspectives, but indicate only the purpose of the preceding actions.

Vass. 34: Zxapgpdrwos tave 616 pabiddot yi& va umopd va frydiln war)-
Tepa Tig Pouveaelpts Tév gevroviGy, “He climbed up the pillow to have a
better view over the mountain-ridges formed by the sheets”.

Vass. 37: ..wiye an’ v &\ pepta yia vo. umopéon va 10 dafdan (1o
xeptt), “...he went over to the other side, so that he could read it”.

The difference between these two examples is clear: the present
subjunctive of the first example indicates a position, a status that lasts
for a certain time, however short it may be. By means of the aorist of
the second example the author tells us with which purpose in mind “he
went over to the other side” 1.

Dam. 39: ... 76 dybpt, mod At xt elye yevwnB7) pévo xal wévo yia v fa-
oaviln tobg &ihoug, “...the boy who was born, you might say, only
to tease other people”.

Dam. 40: ... nére-méte ) deydvrovsay ata mawyvidia Toug, el T6Te Bé-
Botx yio va ) fagavigovy..., “...sometimes they let her play with them,
but the only reason why they did it was that they might tease her”. The

1. Tt is good, perhaps, to point out that the speaker, in deciding upon the choice
between present and aorist subjunctive, is often forced into a definite direction by
the nature of the verb he is going to use. The verb BiyAifw may easily be considered
as a status, whereas the verb 3wxBalw, employed in the sense of “to read something”,
is usually viewed as an absolute fact.
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present subjunctive of the first example obviously opens a perspective
on the boy’s whole life, informing us not about one of his actions, but
about one of his qualities. In the second example the aorist tells us only
why the other children “let her play with them”, and nothing more.

A%

The present subjunctive does not only denote a single action in a
definite situation, but also has a general sense. It is risky to deal with
the present of a general nature and the so-called “iterative” present (in
the following paragraph, no. VI) in a separate paragraph. One might
get the impression that in such cases the present stem is quite different
from the one employed to denote a single action in a definite situation.
As T have pointed out before, this difference does not exist 1. The present
stem in general opens a perspective on the action, whether it manifests
itself in one single action taking place in one definite situation or in a
status or quality that lasts for a longer time (e.g. for life), or in a series
of actions occurring in a series of situations.

In this article the present stem that manifests itself in a single
action on the one hand and the present of a general nature and the “iter-
ative” present on the other hand are dealt with separately, because
in this way it becomes absolutely clear that the present stem is indeed
{(and frequently) employed in order to denote one single action taking
place in one definite situation. It seems to be necessary to point this
out again and again, as one may still hear the opinion put forward that
it is only the aorist that is employed in order to denote a single action.
This misunderstanding is obviously caused by the fact that one (un-
consciously) has in mind examples of only that present which we are
going to discuss, viz. the present of a general nature. When one considers
the aorist stem as the opposite of this use of the present, one mayv arrive
at the result previously described.

Some verbs are always followed by a present subjunctive that
manifests itself as “a present of a general nature”:

Pap. 8: ..ouvhfon drd wixede va (@ pévoc..., “...since the years of my childhood
I have got used to living alone...”."

Sam. 126: Eépete, 8¢ 1’ dpéoet va fAémw yovmines va daive, “1 don’t like it, you
know, to see women crying”. :

1, See pp. 85, (+ note) and 86.
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Sometimes a quality is expressed by way of a present subjunctive:

Pan. 158: *Anéucvay of mhdteg Tov pasdiés, Td Aatpd Tou Yepd, T xépLa Tov V& oTifouy
v métpa..., “His shoulders remained broad, his neck strong, and his hands
able to squeeze out rocks...”.

Pan. 203: ...clye Thv téyvm va oy dopadidln tH Aéyo pastopued, “..he was able to
array his words with consummate skill”.

Plask. 40: ...pund¢ %fepe va xamvily..., “...he didn’t even know how to smoke..”.

Pan. 123: "AX)o timota 32v HEepe 7 pave v z7j, “His mother did not know what
else to say”.

On comparing these two examples, it becomes quite clear that in
the first example the speaker views the “action” in its perpective,
whereas in the second example we are informed about what happened,
or rather about what did not happen.

Sam. 84: Aév pwopéds V' dvoiyw Thy xapdid pov, “I cannot open (unburden) my
heart”.

Vass. 17: ‘H xvpla IIény ydpioe &r° ) Pwota suvmmpntinn. "Huewve € ypdvia
xovta oy vogen tre. Tdpa 8&v propet va mailn yopria..., “Mrs Popi came back from
Russia as a conservative. She stayed there with her sister-in-law for six years. Now
she cannot play cards...”.

This example and Pan. 123 seem to be alike. There is one difference,
however: whereas in the example Pan. 123 the author obviously refers
to one single action in one definite situation, the contrary is the case
in the example Vass. 17. Here the word tapa does not mean “right at
this moment”, but has a much more general sense, notwithstanding the
fact that not the “general” present, but the aorist is employed. Yet the
author could not have used a present subjunctive, as he did not want
to refer to a quality: the sentence umopel vo mally yapria means “she
knows how to play cards”. He does not want to tell us about Mrs. Popi’s
qualities. He wants to inform us of a fact: *Amépabfe vo mailn yoptid xt
grou 3ty pumopel va matly (xapid popa), “She forgot how to play cards
and thus cannot play (at any occasion)”. Or we might see it like this;
she does not like to play cards, and even if she would like to,she couldn’t 2.

Pap. 126: ... O &mpene va xafiepdom pid peonuepLdTiny EvamTavsy, Xt
&v adTo 3&v 10 xatépbwva, O& Empeme va TPdyw oo ywétay mo Ehagppd,
“...I would have to start resting for an hour at noon, and if I was not
able to do that, I would have to eat meals as light as possible (hence-
forward)”. The author puts the verb xafiepdives in the form of an aorist,
in the first place because an institution (an hour of rest) can be established

1. Cf. Vass. 123 on p. 96.
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only once, and in the second place because he does not want to dwell on
the subject, does not want to view it in perspective, but views it as an
absolute fact . He does view in perspective, however, the action denoted
by the subjunctive v& tpayw, and that “from this day forward”. In my
opinion, there is also coincidence: this, almost abstract, idea to eat lighter
meals henceforward will be actualized at each moment in the future
when it is time to eat 2.

Dam. 100: ...tépo and 3& xt 2umpde mpémet v& xowtdéng Yk THV
Juyh) oov w &oL wt Exelvog w &yt va TO @iyvere OTHY MAPAAVGIX...,
“...from this day forward you must look after vour soul, you and your
husband, and stop that licentiousness of yours...”. Here again the aorist
subjunctive is used, while one would have expected a “general” present.
Both admonitions refer to actions which have to be started “from this
day forward”, but one of them is expressed as an absolute fact. The
reason why the authoress expressed these two admonitions differently
is that she wanted to take into account a difference that exists between
them. By way of the aorist she wants to say: llpémer V' dpylong va
xortdlne ¢ tdhpx d&v xoltafec, “You must start looking after your soul:
Until now you didn’t do that!”. In the second admonition she uses the
present, because she refers to something they were doing up to that
moment, but which should be discontinued “from this day forward”.

VI

Let us now proceed to a discussion on the phenomenon “repetition”.

Plask. 117: Na megvd, 7ol elme, taxtixa 4w 74 (dwxitepa ypagelo
Tou... IV adtd va megva, va megvd wdbe Bdouddx, “He should drop in,
he told him, at his private office regularly... That’s why he should
drop in, every week”. If we compare this sentence with a statement
like, for instance, “Tdv Prénw v& mepvd@”, “1 see him passing by”, we
see that in both cases the action denoted by va mepvd is viewed in its
perspective. There is, however, also a difference: the present subjunctive
in the statement “Tdv PAémwe vk mepvd” is an actual occurrence taking
place in a definite situation determined by the verb Prémw, with which
it coincides; the other subjunective v& mepva does not refer to an actual

1. See note on p. 101.
2. See also Plask, 117 on pp. 104-105,
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occurrence taking place in a definite situation, but to, let us say, a way
of behaving. Yet there is, in my opinion, coincidence: each week this
“way of behaving” will be actualized (if the boy does what is told him)
into an action occurring in a definite situation (he drops in). In such
cases there is not one point of coincidence, but more, a whole series of
them 1,

Some other examples are:

Pap. 70: ... opa T ufva mwpémer va OV EmianépTwuat,
pay him a visit”.

Plask. 68: "Avoife ..wt & peydro pmaiwdve ... vo Byadvn xal va edpoalvera
7 dméBpada TO vapytAé Tou..., “He also built a big balcony, so that he could go out and
enjoy his narghile, when the evening came...”.

Vass. 102: ©O%Aew va pol podens mov wt &v Bploxesar..., “I want you to write me,
wherever you are...”. In this example we see that the points of coincidence are some-
times not indicaled explicitly, but have to be supplied by our own fantasy.

113

...once a monthI must

In composite sentences the present stem sometimes appears both
in the main clause and in the subordinate clause:

Pap. 81: 'k va xepdilw ypbvo, Yool watapesfiucpo othv “Abfva...,
“In order to gain time I came back to Athens each day around noon...”.
From the fact that this type of sentence very seldom occurs one may
gather that Greeks prefer the aorist stem in such cases and use the pres-
ent stem only when they want to emphasize the notion of repetition.
The present subjunctive is more commonly used, however, after the
imperfect (if it denotes a repeated action) of verbs like xdvw, dvayxdlw
and xavagépvw. The fact that these verbs in themselves do not have a
complete meaning and always need a supplement apparently gives
Greeks the idea that the notion of repetition should also be present in
the supplementary verb. Some examples are:

Plask. 71: ...xal wéte-nére, dvaotévale # watdpepve V' dvolyn xaud wixpoxouBévra
..ué Tobg md véoug dm’ Tod¢ émowémrtes..., “...and occasionally she sighed or got the
courage to start chatting with the younger people among the guests...”.

Dam. 151: Ta xerdpepve mdvtote, dnbua xal ot mokewnods worpoic, va maiovn T
véo povréde &md 1d Llapiot... “She always succeeded, even in wartime, in getting the
Jatest models, from Paris...”.

Plask. 13: Kai xdfe gopk satémt ywérav o Ido... xatt #Adyoteg ortayovitoes &-
vaBAutav o1d Endve yethog, Enetta oTd pouBoivix xal To PAépapa, Thy dvdyxafoy v& pigo-

1. I do not see why this way of explaining “general” and “iterative” presents
should be “forced” (gewaltsam), as has been pointed out by Mrs. Helena Kurzovi
in a review of my dissertation “The Greek Imperative”, publised in Listy filologicke
91 (1968), pp. 447-448,
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xhetvy & pdma, “And each time after that the same happened: some very small
drops (of sweat) developed on her upper lip, then on the sides of her nose and her
eyelids, and forced her to half-close her eyes”.

Plask. 14: MroawéByove 610 cohdvi... xal thv Exava vo To xd¥1 WUTPOGTL GTHY
&8eppotda pov, “Again and again I entered and left the drawing-room and thus
made her lose her self-assurance in front of my little sister” &

As has been said before, the notion of repetition, when present
in the main clause, is not carried through in the subordinate clause. In
the following examples it will become clear why.

Dam. 50: Kdmov tiyave v &mave SovAewd, aAA& ot Sud % tpelg
Nwépsc v Edwyvay mak ¥ Ty avdyxalov ve @dym..., “Occasionally
she was lucky and found a job, but after two or three days they fired
her or forced her to leave...”. According to what has previously been
said about the verb dvayxdlw a present subjunctive might have been
expected. The aorist is used, however, because a present would have
meant that the girl was forced to leave the same job more than once.

Sam. 56: ...6 pmoupis wob oxap@diwve yie vo foij TO yAuxd, “..the
side-board which he (frequently) climbed to find some candy”.

Plask. 73: Tobg mpditoug ufveg Eypape avagopés ... lows yia va éényr-
oy moe d&v Hrov wall touc..., “During the first months he wrote reports
...perhaps in order to explain that he was not on their side...”. The man
writes so manv reports, not because he wanted to explain again and
again, but because he wanted to explain once and for all that he had
nothing to do with them 2.

Pan. 220: KatéBavov atd xavdie va idodw o xepafra..., “They were
accustomed to go down to the canal to see the ships...”. The present
subjunctive va Prémouv could be used here, of course, except that the
purpose of an action is usually expressed by way of an aorist. Only when
the speaker wants to emphasize the notion of repetition, will he employ
the present stem in the subordinate clause ®.

1. Pan. 110: ..tov d&gnve va tie mdvy Th péon..., “..leach time they
were walking) she let him put his arm around her waist...”. Here the present sub-
junctive is not used because of the iterative colour of the sentence. The author is
forced to employ the present, because an aorist subjunctive would have an altogeth-
er different (and even impossible) meaning: the girl, then, would not “let” him,
but would “make” him put his arm around her waist (by grasping, for instance, his
hand). See p. 87.

2. Cf. Dam. 40 on pp. 101-102.

3. See Pap. 81 on p. 105.
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The same holds true for subordinate clauses, introduced by a tem-
poral conjunction:

Sam. 35: "Egevye xabe mpnl, vople vapls, dmd 10 Swudtio tou,... mpotolb Svmvrjon 7

smrovotoxupd tou..., “Every morning he left his room as early as possible, before his
land-lady woke up...”.
Pan. 26-27; .. ¥mpeme v& onxovevtas wplv xalopésy..., “...every morning they had

to get up before sunrise...”.
Vass. 48: ®edyouv dmote Todg xanvion, “They leave whenever they feel like it.”
It would obviously be extravagant to indicate the moment at which
an occurrence repeatedly takes place by means of the present stem,
except maybe when the notion of repetition is strongly emphasized .

In more composite sentences, consisting of a subordinate clause
and a main clause that is followed by another subordinate clause, this
last clause has the aorist subjunctive, just like in the clauses which were
previously discussed.

Pan. 215: Xav Erspre 16 mpdto oxotddi, ... Emonpvayv 16 Spbuo ... va

neprmaryoovy, “As soon as darkness came, they used to go out to make a
walk”.

Pap. 16: ... xabe gopx wov Térsrwva Eva oyédo, ... Bualduovva va Bdim
umpds quécwg xxtt &Aro, “... when I finished a design, T always was in
a hurry to start another one right away”,

The same holds true for sentences where not the main clause, but
the subordinate clause is followed by another subordinate clause:

Pap. 17: Kdle gopk mwod Enpdrcito va émioneprd 6 yixtpd, % uépa (Lov
myawve oxedov yapévy, “Every time when I had an appointment with
the doctor, my day was almost wasted”.

Pan. 218: Xav dmhewve v yéor V' dvdyn 10 @Gc..., cLAoytéTov...,
“When he stretched out his hand to switch on the light, he used to think...”.

An exception is formed, of course, by subordinate clauses preceded
by a verb that is usually followed by a present subjunctive:

1. I have found no such examples. TzarT2aN08, Neoedanpvuey Sivrabus, Tou. B,
27 Exdoorg, Athens 1953, concedes that in temporal (and hypothetical) clauses
the present subjunctive very seldom occurs: see pp. 61-66 and 100-102. In temporal
and hypothetical clauses the aorist subjunctive does not ususally denote repetition,
but a single occurrence in the future. Some examples are: Pap. 9: Ty [Téunm épwe,
&v pt Eavapwrijon, B& 1ob 1& wd, “If he asks me again on Thursday, I shall tell him”.
Vass. 109: Kol 82 00d ypddw dupéowe wbrg xarefd, “And I'il write you as soon as I
have arrived in Athens”. Pap. 159: "Otav By® &=’ 70 vocoxopelo, mod & wdw;,
“Where shall 1 go when I leave the hospital?”.
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Pan. 146: "Efyalav xal tpamélie owa ath Bdracon, cav dpylay ol
xopol va plvxalyvovy, “As soon as the weather got better, they used
to put tables outside, close to the sea”.

Pap. 78: ..xal wdvov cav... Efrema va dydwverar & oxeretdg Nodyala,
“...and only when I saw the skeleton rising higher and higher, did I
usually quiet down”.

*®

Our conclusion may be as follows.

The present subjunctive denotes an action seen in its perspective,
coinciding with another occurrence. It manifests itself as:

1. a single occurrence actually taking place in a definite situation
determined by another occurrence with which it coincides.

2. the purpose of an action, expressed in the form of a status which
will be in force in a situation determined by another occurrence (or
other occurrences) with which the status coincides.

3. a status which is in force in a situation (which may last as long
as “life”) determined by other occurrences with which it coincides.

The aorist subjunctive denotes an absolute fact that has no relation-
ship with any other occurrence. It manifests itself as:

1. an occurrence which (probably) will take place in the near or
distant future and has no connection with the present situation.

2. a factual complement, expressed as an absolute fact.

3. the purpose of an action, expressed as an absolute fact.

4. a mere fact, a plain statement about an occurrence taking place
1n the present situation or in the immediate future.
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